FRSIEE XBEEXHKTHRES

4R%

XHIER | XHH THAR X HEEE (M)
=& A1 B | BBEEF-ENRERERFRRER 6,000
=& 4R 198 |ENfE# X /PR RS EE D= 8,000
E==1 4238 | FEE/NPERAE ERNBEXHEE DS 7,000
=8 4R 268 |ENfE X/ p ERBEER LD 5,500

& &t 26,500
58%

XHIER | XHH XHAE X HE%E (M)
= 5A1 B |[BHM/IN P ERPTAER G ERBIES 5,500
= 5A148 ([BH MR DS EFIEEERBESBRE 5,000
FH 5A21B |t RILO/NEREEE HEOHT 5,000

& i 15,500
6B %

XHIER | XHHA XHAR ZHEEA)
g€ | 6A17H|BHERXRHBERES 10,000
= 6 H28H |BFH M/ hERPTAERGESBES 5,000

& i 15,000
789

XHIER | XHH THAR ZHEE M)
= TH198 | BBHEODREBHRE 6,000
Zhfh | 7TA2TH|EXTXRRERYREYXRES 2,000

= 8,000
8A R

XHIER | XHH THAR ZHEEA)
ZDih 8A3H |EHERX ERY 2,000
E=y BASH|BHMHBEFE BRI 7,000
& 8H27H |FIHAMEZEM RN EHR = 5,500

& § 14,500
98 %
XWIER | XHH XHAR FHEEE (M)
IANDHEBERRBFEXHIEIHYEHFATL,
& &t 0




10A %

XHIER | XHH THAR X HEEE (M)
ZEh€ | 10A78|FE27EMOAEMEREALE 10,000
& = 10,000

1MA®
XHIER | XHHA ZHAR T H£EE (M)
= MAISE|E=MARENRNANES 6,000
& &t 6,000

12845
XHIER | XHH XHAE XHE%E (M)
= 1278 |BHT=EiREXBRE 5,000
= 12878 |BH T/ hERPTAERK GBS BHR 5,000
FH 128128 EBBERER FEOH 5,000
= 128138 [BHTHERMRS 5,000
FH 128208 | TR REEDHT 5,000
& &t 25,000

1A%
XHIER | XHH XHAE XHEE (M)
ZDith 1B12B|ETtHRERARBE 3,000
= 1148 |HEHWREERESHES 6,000
= 1A17TB|BHTRESHESR 7,000
= 1RA18B|BHDAEZES=S 6,000
= 1A24B|BHTEEBERHFR 6,000
FH 1A268 |t AH£EKRDEEEDHT 5,000
& &t 33,000

28%
XHIER | XHH XHAE FHE%E (M)
ZDih 2A28 | RREINFHEFERE 2,000
= 2A7H | BATHERREBFARDERIBAR 4,000
FH 2A8H | B EREEDHT 5,000
= 2A8B |BHTMAREHEBHRE 6,000
& E 17,000

3A»
XWIER | XHH XHAE FHE%E (M)

B DHEEXRBEIHIEHYFEEA,

& & 0

T3 FEEDHEEDXREEL

170,500 TLT=,







